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Q@ T AR SITIER

EERMFER| 14 [#HFE) HWEEXE Fd) 133.33] ({EM) HEMEEIZ 4.0%
BE AEEBF HEEEE (FEBD05Y) 0.63 (EF/%) EAEF 2010|H22
XA EjEh X X =EBhEE 74.31 ((BEM/%) BiERHIRE | 1998/H10 CBR 9.85
BEEEE|BAEET BEELE 0.00 ({EM/%) BERTHE | 2005/H17 NPV 1,745.08 &M
S A Al E X320 ZDhIER 0.00 ({2 /%) HERERTHE | 2055/H67 EIRR 26.359%
BB BEEDER Bk 20 0B R BB -0 TIL—4%
& Z B CHEBRERD EE=S EH A 25|13 | 2000 | 2010 EYEESE FREE
=5 |BE| WE| TXE [wrsE H (C) (B) FEHBS|IRERAE FHHE (BM) (M)
a5t 127.0]  29.4 156.4 3,716] 197.12] 1,942.20 104.7 FXE unes| 28 | BB [ ZTOM
1] 1998 ] H10 2.6 0.0 2.6 0.0 4.21 0.00] -12] 1.601] 102.8] 98.2 258] 000 000 000] 0.00[H10
2| 1999 | H11 7.1 0.0 7.1 0.0 11.29 0.00[ -11] 1539 101.4] 968 7.10 000 0.00/ 000 0.00[H11
3| 2000 H12 115 0.0 115 0.0 17.77 0.00[ -10| 1.480| 1000/ 955| | 11.47] 000/ 000 000 0.00[H12
4| 2001 | H13 28.6 0.0 28.6 0.0 43.40 0.00f -9| 1.423] 98.1] 937|| 2857] 000/ 000 000 0.00[H13
5| 2002 | H14 23.2 0.0 23.2 0.0 34.31 000 -8] 1.369] 970 926] | 2323] 000/ 000/ 000 0.00[H14
6| 2003 | H15 9.7 0.0 9.7 0.0 13.65 0.00[ -7| 1.316] 97.7] 933 9.68] 000 000 000 0.00[H15
7| 2004 | H16 24.7 0.0 24.7 0.0 33.27 0.00[ -6/ 1.265 98.4| 940| | 2471] 000] 000 000 0.00[H16
8| 2005 | H17 19.6 0.0 19.6 0.0 25.17 000 -5/ 1.217| 99.4] 949 19.64/ 0.00/ 000/ 000  0.00[|H17
9| 2006 | H18 0.0 0.0 0.0 74.3 0.05 86.93 -4/ 1.170| 101.1] 966 0.00| 005 7431 000 000[H18
10[ 2007 | H19 0.0 0.1 0.1 74.3 0.06 8359 -3 1.125| 102.8] 982 0.00| 005| 7431 000/ 0.00[H19
11| 2008 | H20 0.0 0.1 0.1 74.3 0.06 80.37| -2| 1.082| 104.7] 100.0 0.00| 006 7431 000/ 0.00[H20
12| 2009 | H21 0.0 0.1 0.1 74.3 0.07 77.28] -1] 1.040] 104.7] 100.0 0.00] 007] 7431] 000/ 0.00[H21
13| 2010 | H22 0.0 0.6 0.6 74.3 0.63 74.31 0/ 1.000| 104.7| 100.0 0.00| 063| 7431 000/ 0.00[|H22
14| 2011 | H23 0.0 0.6 0.6 74.3 0.61 71.45 1] 0.962| 104.7] 100.0 0.00| 063| 7431 000/ 0.00[|H23
15| 2012 | H24 0.0 0.6 0.6 74.3 0.59 68.70 2| 0.925| 104.7] 100.0 0.00| 063| 7431 000/ 0.00[H24
16| 2013 | H25 0.0 0.6 0.6 74.3 0.56 66.06 3| 0.889] 104.7] 100.0 0.00] 063] 7431 000/ 0.00[|H25
17| 2014 | H26 0.0 0.6 0.6 74.3 0.54 63.52 4| 0.855| 104.7| 100.0 0.00| 063| 7431 000/ 0.00[|H26
18| 2015 | H27 0.0 0.6 0.6 74.3 0.52 61.08 5/ 0.822| 104.7] 100.0 0.00| 063| 7431 000/ 0.00[|H27
19| 2016 | H28 0.0 0.6 0.6 74.3 0.50 58.73 6| 0.790| 104.7] 100.0 0.00| 063] 7431 000/ 0.00[|H28
20| 2017 | H29 0.0 0.6 0.6 74.3 0.48 56.47 7| 0.760] 104.7] 100.0 0.00| 063| 7431 000/ 0.00[|H29
21| 2018 | H30 0.0 0.6 0.6 74.3 0.46 54.30 8| 0.731] 104.7] 100.0 0.00| 063| 7431 000/ 0.00[H30
22| 2019 | H31 0.0 0.6 0.6 74.3 0.45 52.21 9| 0.703| 104.7] 100.0 0.00| 063| 7431 000/ 0.00[H31
23| 2020 | H32 0.0 0.6 0.6 74.3 0.43 50.20] 10| 0.676] 104.7] 100.0 0.00] 063] 7431 000/ 0.00[|H32
24| 2021 | H33 0.0 0.6 0.6 74.3 0.41 48.27| 11] 0.650| 104.7] 100.0 0.00| 063| 7431 000  0.00[H33
25| 2022 | H34 0.0 0.6 0.6 74.3 0.40 46.41| 12| 0.625| 104.7] 100.0 0.00| 063| 7431] 000/ 0.00[H34
26| 2023 | H35 0.0 0.6 0.6 74.3 0.38 4463 13 0.601| 104.7] 100.0 0.00| 063| 7431 000/ 0.00[|H35
27| 2024 | H36 0.0 0.6 0.6 74.3 0.37 4291 14 0577] 104.7] 100.0 0.00| 063] 7431 000/ 0.00[|H36
28| 2025 | H37 0.0 0.6 0.6 74.3 0.35 41.26] 15| 0.555| 104.7] 100.0 0.00| 063| 7431 000/ 0.00[|H37
29| 2026 | H38 0.0 0.6 0.6 74.3 0.34 39.67| 16| 0.534| 104.7] 100.0 0.00| 063| 7431 000/ 0.00[|H38
30| 2027 | H39 0.0 0.6 0.6 74.3 0.33 38.15] 17| 0.513| 104.7] 100.0 0.00| 063| 7431 000/ 0.00[H39
31| 2028 | H40 0.0 0.6 0.6 74.3 0.31 36.68] 18] 0.494| 104.7] 100.0 0.00| 063] 7431 000/ 0.00[H40
32| 2029 | H41 0.0 0.6 0.6 74.3 0.30 35.27| 19| 0.475| 104.7] 100.0 0.00| 063| 7431] 000/ 0.00[H41
33| 2030 | H42 0.0 0.6 0.6 74.3 0.29 3391 20| 0.456| 104.7] 100.0 0.00| 063| 7431 000/ 0.00[|H42
34| 2031 | H43 0.0 0.6 0.6 74.3 0.28 32.61] 21| 0.439] 104.7] 100.0 0.00] 063] 7431 000/ 0.00[|H43
35| 2032 | H44 0.0 0.6 0.6 74.3 0.27 31.36] 22| 0.422| 104.7] 100.0 0.00| 063| 7431 000/ 0.00[H44
36| 2033 | H45 0.0 0.6 0.6 74.3 0.26 30.15] 23| 0.406| 104.7] 100.0 0.00| 063| 7431 000/ 0.00[|H45
37| 2034 | H46 0.0 0.6 0.6 74.3 0.25 28.99 24| 0.390| 104.7] 100.0 0.00| 063| 7431 000/ 0.00[|H46
38| 2035 | H47 0.0 0.6 0.6 74.3 0.24 27.87| 25| 0.375| 104.7] 100.0 0.00] 063] 7431 000/ 0.00[|H47
39| 2036 | H48 0.0 0.6 0.6 74.3 0.23 26.80] 26| 0.361| 104.7] 100.0 0.00| 063| 7431 000/ 0.00[|H48
40| 2037 | H49 0.0 0.6 0.6 74.3 0.22 25.77| 27| 0.347| 104.7] 100.0 0.00| 063| 7431 000/ 0.00[|H49
41| 2038 | H50 0.0 0.6 0.6 74.3 0.21 2478 28] 0.333] 104.7] 100.0 0.00| 063| 7431 000/ 0.00[H50
42| 2039 | H51 0.0 0.6 0.6 74.3 0.20 23.83| 29| 0.321] 104.7] 100.0 0.00| 063] 7431] 000/ 0.00[H51
43| 2040 | H52 0.0 0.6 0.6 74.3 0.20 22.91| 30| 0.308| 104.7] 100.0 0.00| 063| 7431 000/ 0.00[|H52
44| 2041 | H53 0.0 0.6 0.6 74.3 0.19 2203 31| 0.296| 104.7] 100.0 0.00| 063| 7431 000/ 0.00[|H53
45| 2042 | H54 0.0 0.6 0.6 74.3 0.18 21.18|| 32| 0.285| 104.7] 100.0 0.00| 063| 7431 000/ 0.00[H54
46| 2043 | H55 0.0 0.6 0.6 74.3 0.17 20.37|| 33| 0.274] 104.7] 100.0 0.00| 063| 7431 000/ 0.00|H55
47| 2044 | H56 0.0 0.6 0.6 74.3 0.17 19.58| 34| 0.264| 104.7| 100.0 0.00| 063| 7431 000/ 0.00[|H56
48| 2045 | H57 0.0 0.6 0.6 74.3 0.16 18.83| 35| 0.253| 104.7| 100.0 0.00| 063| 7431 000/ 0.00[|H57
49| 2046 | H58 0.0 0.6 0.6 74.3 0.15 18.11| 36| 0.244] 104.7| 100.0 0.00| 063] 7431 000/ 0.00[|H58
50| 2047 | H59 0.0 0.6 0.6 74.3 0.15 17.41| 37| 0.234] 104.7| 100.0 0.00| 063| 7431 000/ 0.00[|H59
51| 2048 | H60 0.0 0.6 0.6 74.3 0.14 16.74| 38| 0.225| 104.7| 100.0 0.00| 063| 7431 000/ 0.00[H60
52| 2049 | H61 0.0 0.6 0.6 74.3 0.14 16.10| 39| 0.217| 104.7| 100.0 0.00| 063| 7431] 000/ 0.00[H61
53| 2050 | H62 0.0 0.6 0.6 74.3 0.13 15.48| 40| 0.208| 104.7| 100.0 0.00] 063] 7431 000/ 0.00[|H62
54| 2051 | H63 0.0 0.6 0.6 74.3 0.13 1488 41| 0.200/ 104.7| 100.0 0.00| 063| 7431 000/ 0.00[|H63
55| 2052 | H64 0.0 0.6 0.6 74.3 0.12 14.31| 42| 0.193| 104.7| 100.0 0.00| 063| 7431 000/ 0.00[H64
56| 2053 | H65 0.0 0.6 0.6 74.3 0.12 13.76| 43| 0.185| 104.7| 100.0 0.00| 063| 7431 000/ 0.00[|H65
57| 2054 | H66 0.0 0.6 0.6 74.3 0.11 13.23| 44| 0.178] 104.7| 100.0 0.00] 063] 7431 000/ 0.00|H66
58| 2055 | H67 0.0 0.6 0.6 74.3 0.11 12.72| 45| 0.171| 104.7| 100.0 0.00| 063| 7431 000 0.00|H67
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mETF RIS XA EEREARER

miETA & | EmEES
(B N FH) (B M)
E * ) EDS BRI tgER|REE—ALrYyx| B E
KN PR I3 * £ (&P (N) |BRIEE | ZEEE|BANEEE | tEEESE
FEITE FTMfi%E | FTAfZE
D L3 0 ol 10715 2,866 0 0
E BERE 1,431 8,985 1,710 3,770 15,364,350| 33,873,450
F HEXE 478| 16,840 4,351 2,550 73,270,840| 42,942,000
9 BH RS 64 1,772 2,560 814|  4,536,320] 1,442,408
10 Bk - B - IE oS 1 5 9,465 4,126 47,325 20,630
11 A T3 2 20 2,652 1,668 53,040 33,360
12 KAR - Z D ith A R R R EE 22 84 720 755 60,480 63,420
13 A -AHGEIEE 0 0 2,065 2,742 0 0
14 RE-HlEREEE 18 527 1,732 1,441 912,764 759,407
15 NIV RN T mEliE X 3 15 7,835 2,108 117,525 31,620
16 Hi AR - il - 5] B8 388 € 58 40 199 2,719 578 541,081 115,022
17 b2 I ¥ 7 398| 11,040 5868 4,393,920 2,335,464
18 ARG ARELEEE 0 0] 39,188 29,963 0 0
19 TIRAFvI R R RESE 5 91 3,418 1,323 311,038 120,393
20 JLEGREEE 4 169 3,314 1,111 560,066 187,759
21 BHLER-ERG-EREEE 1 1 670 1,572 670 1,572
22 EX-TRESRREE 12 138 4,759 2,482 656,742 342,516
23 YR 8 222| 13,821 7,782]  3,068,262| 1,727,604
24 FHEEHESE 3 638 8,330 5601| 5314540 3,573,438
25 cEHEMHEE 43 439 2,609 1,806] 1,145,351 792,834
26 — R EREE 60 1,064 3,233 3,566 3439912 3,794,224
27 EREmMBRERNEE 30 1,929 3,047 2,273| 5877,663| 4,384,617
28 BB S E WS 3 18 2,403 3,008 43,254 54,144
29 BFEG-TNAREEE 8 270 5,787 1,930 1,562,490 521,100
30 X AR EREE 101 8,445 5,191 2,199| 43,837,995 18,570,555
31 BEEmBREREE 8 113 2,500 2,209 282,500 249,617
32 ZDMBIESE 35 283 2,440 2,479 690,520 701,557
i\ g 478| 16,840 — — 77,453,458| 39,823,261
G B -AR-KE-EVHIEE 21 650 122,077 4,083 79,350,050 2,653,950
H [BERBIEE 62 2,014 4,959 813 9987426 1,637,382
I EHE 256 5,885 5,800 893| 34,133,000] 5,255,305
J ENFER - /INTEE 3,847| 29228 2,088 2411| 61,028,064| 70,468,708
49~54 HIFEE 430 3,765 2,303 4,627 8,670,795 17,420,655
55 sEERDTE 22 1,693 1,942 1,847 3,287,806] 3,126,971
56 - KR - FDEY&/INTEE 449 1,834 1,942 2,586  3,561,628| 4,742,724
57 REBH&NTEE 1,300 11,712 1,942 423 22,744,704] 4954176
58 BHEE - BEE/NTE 212 1,544 1,942 2,152| 2,998,448 3,322,688
59 RE Loz MR /NTE 292 1,292 1,942 2,738  2,509,064| 3,537,496
60 ZDH/NTEE 1,142 7,388 1,942 1,732] 14,347,496] 12,796,016
) it 3,847| 29228 — — 58,119,941 49,900,726
K EEh-RIEE 227 2,708 4,587 233| 12,421,596 630,964
L TEEE 1,055 3236| 18812] 10581 60,875,632 34,240,116
M RBIE-EEE 2437 14218 2,148 116 30,540,264| 1,649,288
N E&. &t 1,041 17910 1,627 57| 29,139,570 1,020,870
o BE.FEXEX 669| 11,603 1,467 207| 17,021,601 2,401,821
P BEY—EXEE 92 1,491 4,587 233| 6,839,217 347,403
Q H—EXR%E 2,727 18,433 4,587 233| 84,552,171 4,294,889
R NFE (IR FEINGELED) 90| 13,121 4,587 233| 60,186,027| 3,057,193
= .;l- 14,433 146,322 — — 574,709,808| 204,473,339
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1998 | H10 271 271 1.05|| H10 258
1999 | H11 746 746 1.05|| H11 710
2000 | H12 1,204 1,204 1.05]| H12 1,147
2001 H13 3,000 3,000 1.05|| H13 2,857
2002 | H14 2,439 2,439 1.05|| H14 2,323
2003 | H15 1,016 1,016 1.05|| H15 968
2004 | H16 2,595 2,595 1.05|| H16 2,471
2005 | H17 2,062 2,062 1.05(| H17 1,964
2006 | H18 1.05|| H18
2007 | H19 1.05|| H19
2008 | H20 1.05|| H20
2009 | H21 1.05|| H21
2010 | H22 1.05|| H22
2011 H23 1.05|| H23
2012 | H24 1.05|| H24
2013 | H25 1.05|| H25
2014 | H26 1.05|| H26
2015 | H27 1.05|| H27
2016 | H28 1.05|| H28
2017 | H29 1.05|| H29
2018 | H30 1.05|] H30
2019 | H31 1.05|| H31
2020 | H32 1.05|| H32
2021 H33 1.05|| H33
2022 | H34 1.05|| H34
2023 | H35 1.05|| H35
2024 | H36 1.05|| H36
2025 | H37 1.05|| H37
2026 | H38 1.05|| H38
2027 | H39 1.05|| H39
2036 | H48 1.05|| H48
2037 | H49 1.05|| H49
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AR R e (ho/Ho) L 238 2 249 317 o | DLm ?]E\Iliﬂ-l_H(.W.)L.(D.L.:m) 1.900f  1.900]  1.900]  1.900]  1.900)[T.P.(BR. MK KER h/HO' @ 3171] 2459 2033] 2459 3171 — ZHIKER
ERROB R REGEE 000019 0.00074] 0.00106 0.00074 0.00019 T D) AT & (i) Enimﬁﬁaeinﬁ@%ﬁzio%zo% )2'260 S ;EDE%’%E&%]; R hc/ ® e e o I I
= : : : : : { = Ui =) 2 2 BEnlé, hc/HO’ 1165/ 0.793]  0569] 0.793 1.165
HUR R (m3) 3,667| 21447 43110 RS R - 3 L -
pipe-<y (;Eﬂ{j}bi‘aejﬁ“ﬁ*éﬁié 551 ﬁgaxﬁgfm N 5 ﬁﬁ;bgg;% féﬁ'ﬁl—l'é :H1 2580 -2.340] -2.100] -2.340] -2.580 D~R%FHEIEHNHEREEAEACE
R TR E T TE A =) 93.:.3393(:; S Bt r_ﬁéﬂ:tgo() 33)7< ) 0.000] 0.000[ 0000 0000] 0.000[ftERE &H a/+ (2g(H0)3) | 0.00019] 0.00074] 0.00106 0.00074| 0.00019[{#a8#k;K R =
S TRORHRTE  ARE T g %:KE?.L% m3/m/sec 0.000[ 0.000] 0.000] 0.000] 0.000}(m3) | #FERE |a(m3/m/sec) |0.002829] 0.016549] 0.033264| 0.016549] 0.002829]Q50 (m3) |
,086, m=(m 0 0 0 0 0 o] IFYEE [a (md) 3,667] 21,447[ 43,110 21,447 3,667 93,339
TR1 40&ERER jjl a2 R oA .%H_f;i%"sﬂ.:ﬁﬂ?ﬁaﬁ ~,§i(<ﬁ)ﬁﬁ) g.ggg §.4(2)0 2.400 2.400]  2.400 BmEE At(ER) 2.400]  2.400] 2.400] 2.400] 2.400
] i FEE(m . 528  4.410 3.528 2.646 FIBK R (m) LO 70.051|  70.051 0
T TE H| K i IR R . . 70.051|  70.051] 70.051
AT BiE ,2.40 'ﬁ&4_g) — HILE ’gE(E) 112/(2)(53 7 (%R @,ﬁé(sec) 6.700 6.700 6.700 6.700 6.700 HLEPH (m) HO (=KrxHO[ 2170 2893 3616 2893 2170
Sz B)EE(Ho'/Lo) 0.031 0.041 0.052 0.041 0.031 A =L Lf%ﬂﬁ?%(m) 0.118 0.353 0 ;&ﬁz@ﬁa HO/LO Q) o o e oo 22
%K (h/Ho) 223 25 T e = A 0. . 588 0.353] 0.118 KFm) _ h 7018  7.253| 7.488]  7.253|  7.018|—KR=m B
MK Z o) 323 251 207 251 3.23 o | DLm XM H (DL :m) 2.3:)3 21.900 1.900 1.900 1.900 HXIKR h/HO @ 3.234| 2507 2.071 2.507 3.234 — IRBIKE
oo T 000005 00 0 000000300017 e .Ern m R - .253] 2.488| 2.253] 2.018 Kimm (m) he | 2.582 2.347 2.112 2.347 2.582
R E 3172] 19.819] 41823] 19819] 3172 S AN 7K oL =T = bo Mg O 200 Do 1 L0
, , , , , _Jrﬂ ELDMM% Kinms H1 -2582] -2347] -2112] -2.347] -2582 D~ Ll EHNHEEN T A E D&
it H<ODEDZEDZL 0.000 0.000 0.000 0.000 0.000){atRE & ’ T
W%ﬁo)% R i PN : . _ 000]#akiim = & H a/+ (2g(H0)3) | 0.00017| 0.00070] 0.00106 0.00070| 0.00017){a#k;K R =
S TROEHERE T ’ff:‘fm; B 10231222 Ezgi %151 %igz)mi(m3/m/sec) 0.000[ 0000 0.000] 0.000] 0.000}(m3) | #HFERE |[qa(m3/m/sec) |0.002448]0.015293] 0.032271] 0.015293] 0.002448]Q40 (nl13) l
,029, m=(m 0 0 0 0 0 o] IFYEE [a (m3) 3172 19,819] 41823] 19,819 3,172 87,806
TR1 30EFERSH (=%t T ZHEA R N '%I%'EE'EFHE] :g_:_l(ﬂ%FaEl) 2400]  2.400]  2.400]  2.400]  2.400 RS At (BFRED 2400]  2.400]  2.400]  2.400]  2.400
BEWS |BRES TR A B 7795 il (':q;:&,) ]qﬁ'afqgm)) 2.565 3.420 4.275 3.420 2.565 ARRER (m) L0 70.051] 70.051[ 70.051] 70.051] 70.051
= R RS (h) 5 40 430 =50 9861200 il I sec 6.700/  6.700|  6.700]  6.700f  6.700 MK (m) HO(=KrxHO  2.103|  2.804|  3506| 2804  2.103
iR 2 ) BE(Ho'/Lo) 0.030] 0040 0050 _ 0.040] _ 0030 | BRI B AREm 0.114] 0342 0 ﬁﬁﬁﬂﬁﬂ e Tordl Tosa|  7av0| 7243 7014
#8%1 K (h/Ho') 333 258  213] 258 333 > |"DL(m) [ HwWLOL 1 ' 00| 1300|1900 T TOUM 72421 74701 7242 7.01MKR=E AR
AR R (ho/Ho) S =2 s 258 333 o | DLm 3 ,§+(. .)L. D.L.:m) 2.3?2 1.900 1.900 1.900 1.900 *Eﬁz_lf;éﬁ h/HO @ 3.335 2.582 2.131 2.582 3.335 — 1ZHIKIR
e Tobee 500108 G000 00000 T .Ern m e )2.242 2.470] 2.242] 2.014 Kimm (m) he | 2.586 2.358 2.130] 2.358 2.586
KR E 2,520] 17,407| 39541 17,407 2,520 =R e = e Py pooel 057 L2
: : : , , i BAKA —-RinsS H1 -2586] -2.358] -2.130] -2.358] -2.586 D~Ra bl |- HDHEE R aindr ED &
ORREN TR TR ST ;% 7 'i];%‘fig?%‘/’){f ) 0.000] 0000] 0000] 0000] ooo0[ERE | [&H /< (2e(H0)3) | 0.00014] 0.00065] 0.00105] 0.00065] 0.000714] ARk & 7 &2
S TROTHE LS | T T = %:KEF.Lim m/sec 0.000[ 0000 0000] 0.000] 0.000}(m3) | #EE [qa(m3./m/sec) [0.001945[0.013431] 0.03051] 0.013431] 0.001945]Q30 (m3) |
: = (m 0 0 0 0 0 o] IFYEE [a (m3) 2,520] 17,407] 39,541 17,407 2,520 79,396
_ TR At (BERA) 2.400] 2.400] 2.400] 2400 2.400 & f5t
TRXA 2055&&%7]( XY AHKREE R PR REm 2457 3276|4095 3276] 2 H:I:%JLE#FEE] S B W R B
; FEE(m . . . 27 2.457 HBCRE (m) LO 70.051 70.051| 70.051 0.051
T : H| K K B . . . 70.05 70.051
AT ) BE ,;40 ,ﬁ&’4.80 s HIE ’;Eg 112/(2)?J f;f;T (%R @,ﬁé(sec) 6.700 6.700 6.700 6.700 6.700 %g;’qj:;ﬁ(m) HO,(:KEDX RO 2015 2686 3358 2 636 2015
B /Lo 5575 e oE : : S 0 B BB HO'/LO 0.029| 0.038] 0048 0.038] 0.029
*E*%k oS 229 038 2022 oggfgs 0'3?421;93 P .EJD,EE,(EM)_L ;éﬂéﬂﬁ?(m) | 0109 0.328] 0546] 0328  0.109 JKiF(m)  h 7.009|  7.228]  7.446] 7.228]  7.009|KiR=m B L
A e (ho/Ho') o 2 22 259 348 o | DLm gl (.x.)L.(D.L..m) 21.383 21.223 21.223 21.3;)3 21.388 ;Eﬁzjg;(;ﬁ)ﬂ/m @ 3479 2691 2217] 2.691| 3479 — Z KR
SHENOBEREGRE 0.00011] 0.00057] 0.00102] 0.00057 0.00011 i DLHETE Wﬂ i = ' ' ' ' MBS T 2 2572 2158 2372 25
DL B ) 0111 0.00057] 0.00102] G.00057] 000071 uu;sg)n B (EAKEAR i & AEA D) hc/HO @ 1286  0.883]  0641] 0883]  1.286
, , , , , '+ﬂ ,’E}LDM;L% BEénﬁ.—,é "H1 -2591] -2.372] -2.154] -2372] -2.591 D~RFHLEICAHDEEREFAEDHE
it [HI<ODEDEDNZL 0.000] 0000 0000] 0.000] 0.000|#ksRE & ’ RS
T TR TS 7 [HLS 0D« . . . iR &H o/ (2g(H0)3) | 0.00011| 0.00057] 0.00102| 0.00057| 0.00011}{8#;KHE
S TROEHREET ’f:f%iﬁ% P ng;gg Ezg; %3% %ggz;ui(ms/m/sec) 0.000[ 0000 0000] 0.000] 0.000}(m3) | #EE [q(m3./m/sec) | 0.00138]0.011033] 0.027786] 0.011033] 0.00138]Q20 (nl13) l
: =(m 0 0 0 0 0 o]l IFYEE [a (m3) 1,788 14,298] 36,011] 14,298 1,788 68,185
TR1 10&EmERN j:” st T 2 ety ) ﬁfﬁ?ﬁ ﬁﬁ(ﬂ%f&l) g.ggg g.ggo 2.400 2.400]  2.400 BEmEm At(ER) 2.400] 2.400] 2.400] 2.400] 2.400
i 4 FEE(m . 060 3.825 3.060(  2.295 IR (m) LO 70.051| 70.051] 70.051
ﬁ j_:!‘ o = CT XX . . . 70.051 70.051
T BiE ,;40 HIKEE 4.;3—0 . HLE 'gEg 112/(2)8 e CHiR) @,ﬁé@ec) 6.700 6.700 6.700 6.700 6.700 B K (m) HO (KrxHO  1.882 2509 3137 2509 1882
B BB2(Ho'/Lo) 0027] 0036 0045 _ 0.036] 0027 B erarreamEw 0102] 0306] 051 BEAE HOAD O ) i I I 0 I
385K (h/Ho) 7 287 236 T o 5 PRI SR m) 0. . 510]  0.306]  0.102 KZ(m) _h 7.002| 7.206] 7.410]  7.206|  7.002|<—7KiE =75
R i (hc/Ho) L 281 238 281 3.72 o | DLm 22 H (DL :m) 2'382 21.;)00 1.900 1.900 1.900 HRKR h/HO @ 3.721 2.872 2.363 2.872 3.721 — EHIKIR
EENOBE R R EGEE 000007 0.00044] 000094 0.00044] 0.00007 TEDE (ﬁﬁn?}zmﬁﬁﬁ%ﬁm Y ==t 2 R e ool ool ooesl  comel et
R RE 1,003| 10,057] 29,863| 10,057 1,003 B AIKEL — X ir = = ho/HE D o Dood] 0098l D9e 1581
, , , , , '+ﬂ ,ﬁwkm% Kinms :H1 -2.598] -2.394| -2.190] -2.394] -2598 D~QELEI_AHEDEERERAED_E
it (HH<ODEDNZEDNZL 0.000 0.000 0.000 0.000 0.000[#4#55R = 5 ’ ToE
W@&mw% T S GIRCIoL T . . . 000]#akiim = 5 H a/+ (2g(H0)3) | 0.00007| 0.00044] 0.00094| 0.00044| 0.00007){#A#;K R =
S TXORHRTE %”'fw; Silin = 62;222 Ezgg %3% %igzmi(m3/m/sec) 0.000[ 0000 0000] 0.000] 0.000}(m3) | #EE [qa(m3./m/sec) |0.000774] 0.00776] 0.023043] 0.00776| 0.000774]Q10 (n'13) l
: m=(m 0 0 0 0 0 o] IFYEE la (m3) 1,003 10,057] 29,863] 10,057 1,003 51,983
ITR1 - 7
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MR T —2DIERL GRIRDIEER DT —FZEECA)

I X

IRI—2—1
i %
BEEE HIEER
E R (m) 302.0
BrmEEE T 2 1 7K 2E(m) —-6.0|—HEMmKY, F[KE
X Ui = (m) 46| RIEMNTIZHNIK,
Al B &) 1/10] XA FTADEZEGTLADE
BB EREK) ] 0.79
e _ HfTRrE At (B 2400]  2.400] 2400  2.400]  2.400[}¥) iR At (B 2400] 2400/ 2400] 2400/ 2400
TRX2 S50FHEENADICHTHHERRESTE ?JL BE  EEm) 2.700]  3600] 4500] 3.600] 2.700|Z#E = [PREE (m) LO 70.051]  70.051] 70.051] 70.051| 70.051
BEk VHEES ALEAER 1/10 s GHiK)  |ElH#A(sec) 6.700 6.700 6.700 6.700 6.700| AL 1y HE K (m) HO(=KrxHO|  2.133 2.844 3.555 2.844 2.133
= S R (h) 2.40 4.80 7.20 960  12.00 | KA BEIHW.L LR BB HO/L0 D 0030| 0041| 0051 0041] 0.030
JE R B BE(Ho'/Lo) 0.030 0.041 0.051 0.041 0.030 P =L | SR E(m) 0.120 0.360 0.600 0.360 0.120]+ EFRZE |KZEMm) h 8.020 8.260 8.500 8.260 8.020)—/KiFE == L
%t KZE (h/Ho') 3.760 2.904 2.391 2.904 3.760 o | D-L(m) |R3C# HWLODL. : m) 1.900 1.900 1.900 1.900 1.900|[TP.(BIR. ;AI|HEXI/KZE h/HO @ 3.760 2.904 2.391 2.904 3.760 — IR HIKE
*E*ﬁiinﬁ.—,(hc/Ho) 1210  0.823]  0.591 0.823] 1.210 N & (m) 2.020| 2.260] 2.500| 2.260]  2.020|C.D.L.KEE. XK= (m) he 2.580| 2.340| 2.100[ 2.340|  2.580
SHEOM ER=GoE 0.00012] 0.00058] 0.00099] 0.00058] 0.00012 pb—A2) =k X AOHER) FHERDIE, ] hc/HO' 1.210]  0.823| 0591 0.823 1.210
HER=E  (m3) 4354 32,134 76,888 32,134 4,354 5 5@1&“*1&—%%;3 "H1 -2.580| -2.340] -2.100] -2.340] -2.580 D~QEHLE I AHDEERERHED_E
GRRIAKInEZBZ5EEIIEAIEAAN) it [H<ODEDFEDFL 0.000 0.000 0.000 0.000 0.000| AR & &H a/+ (2g(H0)3) | 0.00012] 0.00058| 0.00099| 0.00058| 0.00012|#a# K HE
BOERERAN T DA R = T B = 149,865](m3) L R 2HERE(m3/m/sec) 0000]  0.000] 0000] 0000]  0.000|(m3) ! #EE |q(m3./m/sec) | 0.001669] 0.012315| 0.029467| 0.012315] 0.001669]Q50 (m3) |
2T XDERHERRE HRBRE 1,086,718 |(m3) = [HBHEm3) 0 0 0 0 0 0] |KYETE Jqg (m3) 4354 32,134 76,888 32,134 4,354 149,865
- MR At(FFRE) 2.400 2.400 2.400 2.400 2.400 R At(FBR) 2.400 2.400 2.400 2.400 2.400
TX2 A40FERERNHIZ ﬂ?’éiﬁumi%‘l‘% ";\; BE [ EEm) 2646| 3528|4410 3528  2.646 PRR R (m) L0 70.051]  70.051] 70.051] 70.051| 70.051
BeEkR JHRER ALESAD 1/10 s (i) |ElHA(sec) 6.700 6.700 6.700 6.700 6.700 BE B (m) HO' (=Kr X HO 2.090 2.787 3.484 2.787 2.090
= S i a8 B (h) 2.40 4.80 7.20 9.60,  12.00 5 | KA EMAE HO/LO @ 0030] 0040] 0.050| 0.040[ 0.030
SRR B EE(Ho'/Lo) 0.030 0.040 0.050 0.040 0.030 P =L | S R E(m) 0.118 0.353 0.588 0.353 0.118 KZEmM) h 8.018 8.253 8.488 8.253 8.018|—/KiFE =5 L
fEXTIKZFE (h/Ho") 3.836 2.961 2.436 2.961 3.836 O D.L.(m) [X>3C# HW.LD.L. :m) 1.900 1.900 1.900 1.900 1.900 fAxKE h/HO ® 3.836 2.961 2.436 2.961 3.836 —IZRIKIE
B % Kif = (he/Ho') 1.235 0.842 0.606 0.842 1.235 N E (m) 2.018 2.253 2.488 2.253 2.018 Kifiz (m) he 2.582 2.347 2112 2.347 2.582
SHROBE = Ged 0.00011] 0.00055] 0.00098] 0.00055 0.00011 mEDETH (& X! ADHE) he/HO' 1235| 0842] 0.606] 0.842] 1.235
MR E 3701] 29294 73541 29,294 3,701 5 5ﬁ1ﬂ|l7k1ﬁ—3ijﬂuﬁ;é ‘H1 -2.582] -2.347] -2.112] -2.347] -2.582 _ D~QFLE - AHNEERERALELE _
s [HI<oODEDZEDZFL 0.000 0.000 0.000 0.000 0.000[#a#5iE 2 AH a/+ (2g(H0)3) | 0.00011] 0.00055| 0.00098( 0.00055| 0.00011|tk:kFHRE
AOTERE ST 1 D IRt i & + i = 139,530|(m3) L I RE2HEREm3/m/sec) 0000]  0.000] 0000] 0000]  0.000|(m3) ! #EE lq(m3./m/sec) |0.001418[ 0.011227] 0.028184] 0.011227| 0.001418|Q40 (m3) |
2TROBBERE HHRBRE 1,029,558 (m3) = [FREm3) 0 0 0 0 0 0] |KYETE Jqg (m3) 3,701 29,294 73541 29,294 3,701 139,530
- R At(FFRE) 2.400 2.400 2.400 2.400 2.400 B At(BR) 2.400 2.400 2.400 2.400 2.400
TX2 30Eﬁﬁ$5’1‘jﬂ 'LTT%)L&UH.EE'I'%: ";‘; R EEm) 2.565 3.420 4275 3.420 2.565 HEREmM) Lo 70.051| 70.051| 70.051| 70.051| 70.051
BERX BERER ALESAAD 1/10 T GHiK)  EHi(sec) 6.700 6.700 6.700 6.700 6.700 HE A (m) HO' (=Kr X HO 2.026 2.702 3.377 2.702 2.026
= AR AR 268 s ] (h) 2.40 4.80 7.20 9.60[  12.00 % | K [7) ERQE HO/LO @ 0029] 0039 0048/ 0.039] 0.029
SRR B ER(Ho'/Lo) 0.029 0.039 0.048 0.039 0.029 P =L | S R E(m) 0.114 0.342 0.570 0.342 0.114 KZEmM) h 8.014 8.242 8.470 8.242 8.014)—/KiFE =5 L
%7K ZE (h/Ho') 3.955 3.051 2.508 3.051 3.955 o | DL{m) [XX# HWLOL :m) 1.900 1.900 1.900 1.900 1.900 HERAKZE h/HO @ 3.955 3.051 2.508 3.051 3.955 — IR HIKE
B % K= (he/Ho') 1.276 0.873 0.631 0.873 1.276 N (m) 2.014 2.242 2.470 2.242 2.014 XKigE (m) he 2.586 2.358 2.130 2.358 2.586
SHEOM K mE @8 0.00009] 000049 0.00095] 0.00049 0.00009 e B 0D RT 53 (7 KB Z A D) he/HO @ 1276] 0873 0631] 0873]  1.276
MR E 2,879 25189 68111 25189 2879 5 5ﬁ1ﬂ|l7k1ﬁ—3ijﬂuﬁ;é ‘H1 -2.586] -2.358] -2.130] -2.358] -2.586 _ D~z bl AHDEENERAEDE _
i [HI<oODEDZEDZFL 0.000 0.000 0.000 0.000 0.000[#a#5iE 2 &M a/+ (2g(H0)3) | 0.00009| 0.00049| 0.00095| 0.00049| 0.00009|faftE k%S
3 S e + 1A 124,247|(m3) L I R2HEREm3/m/sec) 0.000 0.000 0.000 0.000 0.000{(m3) | #EE [q(m3./m/sec) | 0.001103| 0.009654] 0.026103] 0.009654| 0.001103]Q30 (m3) |
éll:@ AR E SRS 941,419][(m3) = [REm3) 0 0 0 0 0 0] |KYERE Jqg (m3) 2879 25,189 68,111| 25,189 2,879 124,247
_ BiERER At(BFR) 2.400 2.400 2.400 2.400 2.400 G At(BER) 2.400 2.400 2.400 2.400 2.400
TX2 ZOEEE$5’1~73H 'LTT%)L&UH.EE'I'%- ”;\; KR EEm) 2.457 3.276 4.095 3.276 2.457 HERE(m) Lo 70.051| 70.051| 70.051| 70.051| 70.051
BEkk VERER BEA RS 1/10 5 GHiK)  EHA(sec) 6.700 6.700 6.700 6.700 6.700 HE A (m) HO' (=Kr X HO 1.941 2.588 3.235 2.588 1.941
15 5 MR A a8 B e () 2.40 4.80 7.20 9.60]  12.00 5 H R BB HO/LO @ 0028 0037 0046 0.037| 0.028
SRR B EE(Ho'/Lo) 0.028 0.037 0.046 0.037 0.028 P =L | S R E(m) 0.109 0.328 0.546 0.328 0.109 KEmM) h 8.009 8.228 8.446 8.228 8.009|—/KiFE == L
Bxt /K% (h/Ho') 4126 3.179 2.611 3.179 4.126 o | D-L(m) |R3C# HWLOL : m) 1.900 1.900 1.900 1.900 1.900 fAxKE h/HO ® 4.126 3.179 2.611 3.179 4.126 —IZRIKIRE
#E % K= (he/Ho') 1.335 0.917 0.666 0.917 1.335 N (m) 2.009 2.228 2.446 2.228 2.009 K i (m) he 2.591 2.372 2.154 2.372 2.591
SHEOE R B G 000006 0.00042] 0.00090] 0.00042] 0.00006 itk {2010 86-F X Z LA DI ) ho/HO @ 1335 0.917| 0666] 0.917] 1335
R & 1,993] 20,104] 60,292] 20,104] 1,993 a5 5ﬁ1ﬂ|l7k1ﬁ—35iﬁ"ﬁ?%_é ‘H1 -2.591]  -2.372] -2.154] -2.372[ -2.591 _ D~z bl AHDEERERHAEDE _
i [H<ODEDEDFL 0.000 0.000 0.000 0.000 0.000[#a#5im & AH a/+ (2g(H0)3) | 0.00006] 0.00042| 0.00090( 0.00042| 0.00006] %k 7E
SOE@%H%O).ME,‘E;?.LE+’fvbﬁ_5;.% 104,486 [(m3) L I R2HRE(m3/m/sec) 0.000 0.000 0.000 0.000 0.000}(m3) | #ER [a(m3./m/sec) | 0.000764| 0.007705] 0.023107] 0.007705] 0.000764]Q20 (m3) |
2T XNERHERRE HHRsE 826,733[(m3) = [BREm3) 0 0 0 0 0 0] |KYERE Jqg (m3) 1,993 20,104] 60,292 20,104 1,993 104,486
. ot A At (R 2400]  2.400] 2.400]  2.400]  2.400 B ErErE At (FFED 2.400]  2.400]  2.400]  2.400] _ 2.400
TX2 10FEENDICHTHAHEEREETE ";‘; BB E=m 2295 3060 3.825| 3.060| 2295 HRRE (m) L0 70.051] 70.051] 70051 70.051] 70.051
BERX [HEER AESAAD 1/10 "7 GPiR)  |EHA(sec) 6.700 6.700 6.700 6.700 6.700 BEHE (m) HO (=Kr X HO 1.813 2417 3.022 2.417 1.813
= AR A AR 8 B R (h) 2.40 4.80 7.20 9.60 12.00 5 | SR BRAE HO/L0 (D 0.026 0.035 0.043 0.035 0.026
JE 2 BEc(Ho'/Lo) 0.026 0.035 0.043 0.035 0.026 P =L | S R E(m) 0.102 0.306 0.510 0.306 0.102 KEmM) h 8.002 8.206 8.410 8.206 8.002|—/KiFE =5 B L
%t 7KZE (h/Ho') 4414 3.395 2.783 3.395 4.414 o | DLm) [XX# HWLOL :m) 1.900 1.900 1.900 1.900 1.900 HERAKZE h/HO @ 4.414 3.395 2.783 3.395 4.414 — IR HIKE
#E % K= (he/Ho') 1.433 0.990 0.725 0.990 1.433 N (m) 2.002 2.206 2.410 2.206 2.002 K= (m) he 2.598 2.394 2.190 2.394 2.598
SHEOE K nEG:E 0.00004] 0.00031] 0.00079| 0.00031_0.00004 e O ET 57 (7 P TR T RS T he/HO @ 1433|0090 0725 0.990|  1.433
R R = 1,060 13,503 47,693 13,503 1,060 # 5ﬁ1ﬂll7k1ﬁ—35iﬁ"ﬁ;é ‘H1 -2.598| -2.394| -2.190| -2.394| -2.598 _ D~R bl PHNEENZ A EDCE _
i [H<ODEDFEDFL 0.000 0.000 0.000 0.000 0.000[#a#5im & AH a/+ (2g(H0)3) | 0.00004] 0.00031| 0.00079| 0.00031| 0.00004)it%:k 7
10 DB R e + ene 76,820 (m3) L I Z2HEREm3/m/sec) 0.000 0.000 0.000 0.000 0.000)(m3) | #ER [a(m3./m/sec) | 0.000406| 0.005175] 0.018278] 0.005175] 0.000406{Q10 (m3) |
2T XNERER s HiEiRe 652,423[(m3) i = (m3) 0 0 0 0 0 0] |KYERE Jqg (m3) 1,060 13,503] 47,693] 13,503 1,060 76,820
IX2 - 8
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MR T —2DIERL GRIRDIER DT —FZEECA)

I X

IXI—2-2
e 5%
BEEE HEER
EE (m) 448.0
BrmEEE T ) -6.0|—HEMmKY, FHE
Kifim(m) 46| MIEMNTIZHNIL,
Al kB &) 1/10] YA FTADIEZTZADZE
BB EREK) ] 0.86
MR At(BFR) 2.400 2.400 2.400 2.400 2.400];¥) MERERR At (BFR) 2.400 2.400 2.400 2.400 2.400
— N “ = = —
TRX3 S50FERNNDIZTHAHEEREETE 33* BE  [Eem) 2.700]  3600] 4500] 3600 2700 = [RRE (m) LO 70.051]  70.051] 70.051] 70.051| 70.051
BERX[ERER ALEAER 1/10 e (4iR)  |FHA(sec) 6.700 6.700 6.700 6.700 6.700| AL 15 PR (m) HO (=KrxHO|  2.322 3.096 3.870 3.096 2.322
= S R (h) 2.40 4.80 7.20 9.60]  12.00 5 | ) B HWLLKAEE HO/L0 @ 0033| 0.044] 0055 0.044] 0.033
SRR B EE(Ho'/Lo) 0.033 0.044 0.055 0.044 0.033 P =L SR E(m) 0.120 0.360 0.600 0.360 0.120]+ Ei#RZE |KFEMm) h 8.020 8.260 8.500 8.260 8.020)—/KiFE == ##{L
FBxF 7K (h/Ho') 3.454 2.668 2.196 2.668 3.454 O D.L.(m) [X3C# HW.L(D.L. :m) 1.900 1.900 1.900 1.900 1.900][T.P.(B#R. AT|ABxIKiE h/HO' @) 3.454 2.668 2.196 2.668 3.454 — IR RKR
At Kiifi = (he/Ho') 1.111]  0.756] 0543] 0.756]  1.111 N5t (m) 2.020] 2.260] 2.500] 2.260] 2.020|C.D.L.UKZE. #Ximm (m) hc 2580 2.340] 2.100] 2.340] 2580
SHROME R R =(G:8 0.00019] 0.00070| 0.00096] 0.00070| 0.00019 = DE = 21 7] RimriBADHD) RN, ] he/HO @ 1.111] 0756 0543 0.756 1.111
HER=E  (m3) 11,702| 64,879 125505 64,879| 11,702 a5 f’éﬁum&—fiﬁﬁé "H1 -2580| -2.340] -2.100] -2.340] -2.580 D~ tE AR EEHE A DL
éﬂh#fﬁ‘.—i%ﬁié%éliﬁﬂﬁkb) i [H<ODEDEDZFL 0.000 0.000 0.000 0.000 0.000[#3#5%;% = &H a/+ (2g(H0)3) | 0.00019] 0.00070| 0.00096| 0.00070| 0.00019)kasiiE e
S0 REZA T DB R e T e = 278,668|(m3) B e [REHEREm3/m/sec) 0.000 0.000 0.000 0.000 0.000|(m3) | #ER |q(m3./m/sec) | 0.003023|0.016762] 0.032424] 0.016762| 0.003023|Q50 (m3) |
2T XNERERRE HHRE 1,086,718|(m3) = [FREMI) 0 0 0 0 0 0] |KYETE lg (m3) 11,702 64,879 125505 64,879] 11,702 278,668
- R At(FE) 2.400 2.400 2.400 2.400 2.400 B At () 2.400 2.400 2.400 2.400 2.400
TX3 40¢ﬁ€$5’1‘7ﬂ ﬂ?’éiﬁumi%‘l‘%— 677]* KR EEm) 2.646 3.528 4410 3.528 2.646 HEEEmM) Lo 70.051| 70.051| 70.051| 70.051| 70.051
BeRABRER BERED 1/10 s (4iR)  |FHA(sec) 6.700 6.700 6.700 6.700 6.700 HRE K (m) HO' (=Kr X HO 2.276 3.034 3.793 3.034 2.276
= S a8 B (h) 2.40 4.80 7.20 9.60]  12.00 % | KR EMAE HO/L0 @ 0032| 0043 0054] 0043 0.032
SRR B EE(Ho'/Lo) 0.032 0.043 0.054 0.043 0.032 P =L SR E(m) 0.118 0.353 0.588 0.353 0.118 KiZEm) h 8.018 8.253 8.488 8.253 8.018|—/KiFE =581
FBxF 7K (h/Ho') 3.523 2.720 2.238 2.720 3.523 O D.L(m) [X3C# HW.L(D.L. :m) 1.900 1.900 1.900 1.900 1.900 X KZE h/HO @ 3.523 2.720 2.238 2.720 3.523 — IR RKR
xR ifE (he/Ho') 1.135 0.774 0.557 0.774 1.135 /N FF (m) 2.018 2.253 2.488 2.253 2.018 Kz (m) he 2.582 2.347 2112 2.347 2.582
SHEOE KB @A 000017 000067 0.00097| 0.00067 0.00017 | Bl E & 5 (B A K LA R o A A 2 B ) he/HO @ 1.135] _ 0774] 0557] 0.774]  1.135
MR E 10,235] 60,226] 122,265 60,226 10,235 a5 BAVKA —Rifms H1 -2.582| -2.347] -2.112] -2.347] -2.582 _ D~QFLECAHNEENERHEDL _
i [H<ODEDEDZFL 0.000 0.000 0.000 0.000 0.000{at R = 4H a/+ (2g(H0)3) | 0.00017| 0.00067| 0.00097| 0.00067| 0.00017|fA#kKE RS
A0FEREZR I D DAL R n e+t = 263,187](m3) B e [REHERE(m3/m/sec) 0.000 0.000 0.000 0.000 0.000 (m3>l #ER |q(m3./m/sec) | 0.002644| 0.015559] 0.031587] 0.015559] 0.002644]Q40 (m3) |
2T XNEHERRE HRHRE 1,029,558](m3) iR =(m3) 0 0 0 0 0 0] |KYETE lg (m3) 10,235 60,226] 122,265 60,226] 10,235 263,187
- R At(FE) 2.400 2.400 2.400 2.400 2.400 B At () 2.400 2.400 2.400 2.400 2.400
TX3 3OEEE$5’1~73H 'LTT%)L/&'UH.EE'I‘%- ?; KR KEEm) 2.565 3.420 4275 3.420 2.565 HEEEmM) LO 70.051| 70.051| 70.051| 70.051[ 70.051
BERKX[ERER AERED 1/10 e GHiK) B Hi(sec) 6.700 6.700 6.700 6.700 6.700 HRE g (m) HO'(=Kr X HO 2.206 2.941 3.677 2.941 2.206
15 15 MR A 28 B e () 2.40 4.80 7.20 9.60]  12.00 B | H ) RMBE HO/LO @ 0031| 0042 0052| 0.042] 0.031
JE 2 BEc(Ho'/Lo) 0.031 0.042 0.052 0.042 0.031 P =L SR E(m) 0.114 0.342 0.570 0.342 0.114 KiZE M) h 8.014 8.242 8.470 8.242 8.014)—/KiFE =5 ##{L
FBx3 7K (h/Ho') 3.633 2.802 2.304 2.802 3.633 O D.L.(m) [X3C# HW.L(D.L. :m) 1.900 1.900 1.900 1.900 1.900 HXIKE h/HO @ 3.633 2.802 2.304 2.802 3.633 — I RNKR
% K= (he/Ho') 1.172 0.802 0.579 0.802 1.172 /N FF (m) 2.014 2.242 2.470 2.242 2.014 X (m) he 2.586 2.358 2.130 2.358 2.586
SHE OB Em el 000015 0.00062] 0.00096] 0.00062] 0.00015 B EOH R (mA KA R E e A e ) ho/HO _ ® 1172 0.802] 0579| 0802 1.172
RS 8,141 53246 116,332 53246 8141 o [BBUKEE —RIm s HI —2.586] -2.358] -2.130] -2.358] -2586 _ D~QFLECAHNEENEmAHED L _
i [H<ontDEDZEL 0.000 0.000 0.000 0.000 0.000){at R = 4H a/+ (2g(H0)3) | 0.00015] 0.00062| 0.00096| 0.00062| 0.00015|#a#kE RS
3 SRR o T+ iR 239,105[(m3) B e [REHERE(m3/m/sec) 0.000 0.000 0.000 0.000 0.000j(m3) | #ER [q(m3./m/sec) | 0.002103| 0.013756] 0.030054| 0.013756] 0.002103]Q30 (m3) |
éIIZOD AR e HAERE 941,419/(m3) = [EREm3) 0 0 0 0 0 0] |[KYETE [q (m3) 8,141 53,246] 116,332 53,246 8,141 239,105
_ BEERERE At(BFR) 2.400 2.400 2.400 2.400 2.400 G At(BERE) 2.400 2.400 2.400 2.400 2.400
TX3 ZOEﬁﬁﬁ’ﬂ“jﬁH 'LTT%)L&UH.EE'I'%- ?; KR EEm) 2.457 3.276 4.095 3.276 2.457 HIEEEmM) Lo 70.051| 70.051| 70.051| 70.051| 70.051
BeREABRER BERED 1/10 e GHiK) B Hi(sec) 6.700 6.700 6.700 6.700 6.700 HRE i (m) HO'(=Kr X HO) 2.113 2.817 3.522 2.817 2.113
5 5 A RS B B ] () 2.40 4.80 7.20 9.60 1200 % | KA ERAE HO/LO O 0030 0040] 0050 0040[ 0.030
SRR B ER(Ho'/Lo) 0.030 0.040 0.050 0.040 0.030 P =L S R E(m) 0.109 0.328 0.546 0.328 0.109 KiE M) h 8.009 8.228 8.446 8.228 8.009)—/KiFE =5 (L
FBx3 7K (h/Ho’) 3.790 2.920 2.398 2.920 3.790 O D.L.(m) [X3C# HW.L(D.L. :m) 1.900 1.900 1.900 1.900 1.900 HXIKIE h/HO @ 3.790 2.920 2.398 2.920 3.790 — I RKR
#E % K= (he/Ho') 1.226 0.842 0.612 0.842 1.226 /N FF (m) 2.009 2.228 2.446 2.228 2.009 XKiiirm (m) he 2.591 2.372 2.154 2.372 2.591
SHE OB Em el 000012 000054 0.00094] 0.00054] 0.00012 TBREDH N (mA KA R m e A D e ) he/HO @ 1226]  0.842| 0612] 0842  1.226
MRS 6.211] 44084 106910 44084 6,211 oy [BBUKEL —RImE S H1 —2.591| -2372]| -2.154] -2.372] -2.591 _ D~FLE AR EENZRAEDE _
Hix [H<ODEDEDZFL 0.000 0.000 0.000 0.000 0.000J{a %= 45H a/+ (2g(H0)3) | 0.00012] 0.00054| 0.00094| 0.00054| 0.00012|#a#kE RS
SOFEZEI N DIAR & + el e 207,501 |(m3) H e [REERE(m3/m/sec) 0.000 0.000 0.000 0.000 0.000j(m3) | #ER [q(m3./m/sec) | 0.001605|0.011389] 0.02762| 0.011389] 0.001605]Q20 (m3) |
2TRXROBRBERE HHRBRE 826,733](m3) = [REMm3) 0 0 0 0 0 0] |KYETE |g (m3) 6,211 44,084] 106,910] 44,084 6,211 207,501
__ . R At(ERE) 2.400 2.400 2.400 2.400 2.400 WL At (B 2.400 2.400 2.400 2.400 2.400
TX3 10&5&&5’17](:?#76@}&'5{5#%: I;;L KR EEm) 2.295 3.060 3.825 3.060 2.295 HIEEEmM) LO 70.051] 70.051| 70.051| 70.051| 70.051
BERX|EHRERS AERED 1/10 T GPR)  |[EHi(sec) 6.700 6.700 6.700 6.700 6.700 BB HKE (m) HO' (=Kr X HO 1.974 2.632 3.290 2.632 1.974
= AR A AR 8 B R (h) 2.40 4.80 7.20 9.60 12.00 % | SR IA] B8 HO/LO D 0.028 0.038 0.047 0.038 0.028
JE 2 BEc(Ho'/Lo) 0.028 0.038 0.047 0.038 0.028 P =L S R E(m) 0.102 0.306 0.510 0.306 0.102 KiE M) h 8.002 8.206 8.410 8.206 8.002|—IKiFE == #Ei L
Bt KiZE (h/Ho") 4054 3.118 2.557 3.118 4.054 o | DLm) |XX# HWLOL.: m) 1.900 1.900 1.900 1.900 1.900 HAxtKZE h/HO' @ 4.054 3.118 2.557 3.118 4.054 — IR RNKR
B % K= (he/Ho') 1.316 0.910 0.666 0.910 1.316 /N FF (m) 2.002 2.206 2.410 2.206 2.002 K (m) he 2.598 2.394 2.190 2.394 2.598
SHEOE K e @A 0.00006 0.00043 0.00088] 0.00043] 0.00006 Ve O 5 (B AR R o e Z A D) he/HO @ 1316] 0910 0666] 0910] 1316
R R = 3,055 31,457| 89,868 31,457 3,055 a5 BADKA —XKigEE HA -2598] -2.394 -2.190] -2.394] -2.598 . D~QELEI_AHNEENERAEDE _
it [HI<ODEDZEDEL 0.000 0.000 0.000 0.000 0.000J{at R 45H a/+ (2g(H0)3) | 0.00006| 0.00043| 0.00088| 0.00043| 0.00006)# kK %S
10 DB R e + ene 158,892[(m3) ,é:”'“ SEEHHREmM3/m/sec) 0.000 0.000 0.000 0.000 0.000j(m3) | #ER [q(m3./m/sec) | 0.000789| 0.008127] 0.023217] 0.008127] 0.000789]Q10 (m3) |
2TRXROBBER= HHRBRE 652,423 [(m3) = [EREm3) 0 0 0 0 0 0] |[KYETE [a (m3) 3,055 31,457| 89,868 31,457 3,055 158,892
IX3 -9
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MR T —2DIERL GRIRDIER DT —FZEECA)

I X IRI
e 5%
BEEE HEER
EE (m) 200.0
BrmEEE T ) -6.0|—HEMmKY, FHE
Kifim(m) 46| MIEMNTIZHNIL,
Al B &) 1/10] YA FADIEZTZADZE
BB EREK) ] 0.89
MGTRER At(FER) 2.400 2.400 2.400 2.400 2.400[:F) MEGTRER At(FERE) 2.400 2.400 2.400 2.400 2.400
b 7va — N - = = —
TX4 S50FHEERNDICHTHHERRESTE ;* BE  [Eem) 2.700]  3600] 4500] 3600 2700 = [RRRE (m) LO 70.051]  70.051] 70.051] 70.051| 70.051
BERX[ERER ALEAER 1/10 s i) B HA(sec) 6.700 6.700 6.700 6.700 6.700| AL 15 HAE g (m) HO' (=KrxHO|  2.403 3.204 4.005 3.204 2.403
= S R (h) 2.40 4.80 7.20 9.60]  12.00 g | KA B HWLLKAEE HO/Lo @ 0034| 0046] 0057| 0046 0.034
JE R B BE(Ho'/Lo) 0.034 0.046 0.057 0.046 0.034 P =L S R E(m) 0.120 0.360 0.600 0.360 0.120]+ Ei#RZE |KFEm) h 8.020 8.260 8.500 8.260 8.020)—/KiFE =5 # L
FBxF 7K (h/Ho') 3.337 2578 2122 2.578 3.337 O D.L.(m) [X3C# HW.L(D.L. :m) 1.900 1.900 1.900 1.900 1.900][T.P.(B#R. AT|ABxIKiE h/HO' ® 3.337 2.578 2.122 2.578 3.337 — I RKR
%t K= (he/Ho') 1.074 0.730 0.524 0.730 1.074 N Et (m) 2.020 2.260 2.500 2.260 2.020|C.D.L.OKE. #Ximm (m) he 2.580 2.340 2.100 2.340 2.580
SHEDM ER=GoE 0.00023] 0.00073] 0.00093] 0.00073] 0.00023 = O E = 24 ) RinmrBADZGS) FHERDIE, ] hc/HO' @ 1.074 0.730 0.524 0.730 1.074
HER=E  (m3) 6,526| 32,160| 57,085 32,160 6,526 ﬂ f’éﬁum&—fiﬁﬁé "H1 -2580| -2.340] -2.100] -2.340] -2.580 D~ tE AR REEHE A DL
GRIAXRInEZBZ5EaIIREAIEAAN) i [H<ODEDEDZFL 0.000 0.000 0.000 0.000 0.000{at iR = 4H a/+ (2g(H0’)3) | 0.00023] 0.00073| 0.00093| 0.00073| 0.00023|{a# KRS
S0 REZA) T DB R e + PerBn = 134,457 |(m3) L I REEREm3/m/sec) 0.000 0.000 0.000 0.000 0.000|(m3) | #ER |[q(m3./m/sec) | 0.003777|0.018611] 0.033036] 0.018611[ 0.003777|Q50 (m3) |
2TROBBERE HHRBRE 1,086,718/(m3) R =(m3) 0 0 0 0 0 0] |KYETE lqg (m3) 6,526/ 32,160 57,085 32,160 6,526 134,457
BerEm At(FE) 2.400 2.400 2.400 2.400 2.400 Bk At (R 2.400 2.400 2.400 2.400 2.400
= = —
TX4 A0FHERNADICHTHHBRRESTE ;* BE  Eam) 2646  3528| 4410] 3528]  2.646 PRRE (M) L0 70.051]  70.051] 70.051] 70.051| 70.051
__ BER R | HRER BAEHE]  1/10 e 5| GRiBD |EHA(sec) 6.700| 6.700|  6.700|  6.700[  6.700 MASEiH% (m) HO'(=KrxHQ  2.355] 3.140| 3.925| 3.140| 2355
(= i A AP 8 B ] () 2.40 4.80 7.20 9.60]  12.00 & 1 KT EMAE HO/LO @ 0034| 0045 0056] 0.045] 0.034
SRR B EE(Ho'/Lo) 0.034 0.045 0.056 0.045 0.034 P =L S R E(m) 0.118 0.353 0.588 0.353 0.118 KiZEm) h 8.018 8.253 8.488 8.253 8.018|—/KiFE =581
FBxF 7K (h/Ho') 3.405 2.628 2.163 2.628 3.405 O D.L.(m) [X3C# HW.LMD.L. :m) 1.900 1.900 1.900 1.900 1.900 X KZE h/HO @ 3.405 2.628 2.163 2.628 3.405 — I RKR
HxtXifm (hc/Ho") 1.097 0.748 0.538 0.748 1.097 /N FF (m) 2.018 2.253 2.488 2.253 2.018 K (m) he 2.582 2.347 2.112 2.347 2.582
SHEOB K eE G 000021 0.00071 0.00094] 0.00071] 0.0002] | By DE 5 (B K AL A K S 2 R A D B ) he/HO @ 1097 0.748] 0538  0.748] _ 1.097
R E 5723 30051] 56,036 30051 5723 oy PBBUKEL —RIm s HI —2.582| -2347| -2.112| -2.347| -2582 _ O~FLE AR EENZRAED_E _
i [H<ODEDEDZFL 0.000 0.000 0.000 0.000 0.000{at iR = 4H a/+ (2g(H0)3) | 0.00021] 0.00071| 0.00094| 0.00071| 0.00021|fa#kKE RS
A0FEMERI DA K = + teiln e 127,583[(m3) B e [REHERE(m3/m/sec) 0.000 0.000 0.000 0.000 0.000 (m3)l #ER [q(m3./m/sec) | 0.003312| 0.01739] 0.032428| 0.01739] 0.003312|Q40 (m3) |
2T XNERHERRE HERE 1,029,558 (m3) = [FREMI) 0 0 0 0 0 0] |KYETE lg (m3) 5723 30,051 56,036] 30,051 5723 127,583
SRR At(FER) 2.400 2.400 2.400 2.400 2.400 e At(FFR) 2.400 2.400 2.400 2.400 2.400
b v7v3 B=E =
TX4 30Eﬁﬁ$5’1‘jﬂ 'LTT%)L&UH.EE'I'%: 6773* KR EEm) 2.565 3.420 4275 3.420 2.565 HEEEmM) Lo 70.051| 70.051| 70.051| 70.051[ 70.051
BeRABRER AERED 1/10 s GHiK) B Hi(sec) 6.700 6.700 6.700 6.700 6.700 BB H K (m) HO' (=Kr X HO 2.283 3.044 3.805 3.044 2.283
= AR R AR 8 B R (h) 2.40 4.80 7.20 9.60 12.00 % | SRR ERAE HO/LO D 0.033 0.043 0.054 0.043 0.033
SRR B ER(Ho'/Lo) 0.033 0.043 0.054 0.043 0.033 P =L S R E(m) 0.114 0.342 0.570 0.342 0.114 KiEm) h 8.014 8.242 8.470 8.242 8.014|—/KiFE =5 L
FBx3 7K (h/Ho') 3.511 2.708 2.226 2.708 3.511 D D.L.(m) [X3C# HW.L(D.L. :m) 1.900 1.900 1.900 1.900 1.900 HXIKIE h/HO @ 3.511 2.708 2.226 2.708 3.511 — I RNKR
B % K= (he/Ho') 1.133 0.775 0.560 0.775 1.133 /N FF (m) 2.014 2.242 2.470 2.242 2.014 Xz (m) he 2.586 2.358 2.130 2.358 2.586
SHEROB EnEGRE 000018 0.00066] 0.00095 0.00066] 0.00018 VB DA 5 (B AKX I Z A DB ) he/HO @ 1.133| 0775 0560 _ 0.775|  1.133
RS 4618 26,853] 53937 26,853 4,618 gy [BAKDL— Rin S HT —2.586] -2.358] -2.130] -2.358] -2.586 _ O~FLE AR EENERAEDE _
e [H<ODEDEDZFL 0.000 0.000 0.000 0.000 0.000){at iR = 4H a/+ (2g(H0)3) | 0.00018] 0.00066| 0.00095| 0.00066| 0.00018|#af#kKE RS
3 S e + 1A 116,879((m3) H e [REHERE(m3/m/sec) 0.000 0.000 0.000 0.000 0.000 (ms)l #ER [q(m3./m/sec) | 0.002672| 0.01554] 0.031213| 0.01554] 0.002672|Q30 (m3) |
éIIZOD AR e HiSERE 941,419](m3) = [REm3) 0 0 0 0 0 0] |[KYETE [q (m3) 4618 26,853] 53,937 26,853 4618 116,879
- GRS At(BRRE) 2.400 2.400 2.400 2.400 2.400 GRS At(BRR) 2.400 2.400 2.400 2.400 2.400
& = =
TX4 ZOEEE$5’1~73H 'LTT%)L&UH.EE'I'%- l’;\; KR EEm) 2.457 3.276 4.095 3.276 2.457 HEEEmM) Lo 70.051| 70.051| 70.051| 70.051| 70.051
BERXEEER BERED 1/10 e GPR)  |[EHi(sec) 6.700 6.700 6.700 6.700 6.700 BLEHKR (m) HO' (=Kr X HO 2.187 2916 3.645 2.916 2.187
15 5 MR A a8 B e () 2.40 4.80 7.20 9.60]  12.00 % | H ) RMAE HO/LO @ 0031| 0042 0052| 0.042] 0.031
SRR B EE(Ho'/Lo) 0.031 0.042 0.052 0.042 0.031 P =L S R E(m) 0.109 0.328 0.546 0.328 0.109 KiZEm) h 8.009 8.228 8.446 8.228 8.009)—/KiFE =5 ##{L
B3 7K % (h/Ho') 3.663 2.822 2.317 2.822 3.663 O D.L.(m) [X3C# HW.L(D.L. :m) 1.900 1.900 1.900 1.900 1.900 HXIKIE h/HO @ 3.663 2.822 2.317 2.822 3.663 — IR RNKR
#E % K= (he/Ho') 1.185 0.814 0.591 0.814 1.185 /N FF (m) 2.009 2.228 2.446 2.228 2.009 K (m) he 2.591 2.372 2.154 2.372 2.591
SHEOBEm B Ge8 000014 0.00059] 000095 0.00059] 0.00014 TBREDH N (mA KA R m e A D e ) he/HO @ 1185  0.814| 0591|0814 1.185
RS 3389 22,623] 50300 22623 3,389 o [BBUKEL —RImE S H1 —2.591| -2372]| -2.154] -2.372] -2.591 _ D~FLE AR EENZRAED_E _
_ i [H<ontDEDZEL 0.000 0.000 0.000 0.000 0.000){at iR = 45H a/+ (2g(H0)3) | 0.00014] 0.00059| 0.00095| 0.00059| 0.00014|#a#kKE RS
SOEEE’%%O).ME;E;?.LE+’fvbﬁ_5;.% 102,325[(m3) B e [REERE(m3/m/sec) 0.000 0.000 0.000 0.000 0.000j(m3) | #ER [q(m3./m/sec) | 0.001961|0.013092] 0.029109] 0.013092] 0.001961]Q20 (m3) |
2TRXROBREER=E +HHRBRE 826,733|(m3) = [REm3) 0 0 0 0 0 0] |[LYETE [q (m3) 3,389 22,623] 50,300 22,623 3,389 102,325
B At(BRE) 2.400 2.400 2.400 2.400 2.400 B At () 2.400 2.400 2.400 2.400 2.400
=25 —_ S sk o =
TX4 10&5&&5’*ﬁkﬁ76@)&ﬁ3n‘|‘§ l’;\; KR KEEm) 2.295 3.060 3.825 3.060 2.295 HEEEmM) LO 70.051| 70.051| 70.051| 70.051| 70.051
BERX|HRER AERED 1/10 T GPR)  |[EHi(sec) 6.700 6.700 6.700 6.700 6.700 LB HE (m) HO' (=Kr X HO 2.043 2.723 3.404 2.723 2.043
= AR A AR 8 B R (h) 2.40 4.80 7.20 9.60 12.00 % | SRR ER.AE HO/LO D 0.029 0.039 0.049 0.039 0.029
JE 2 BEc(Ho'/Lo) 0.029 0.039 0.049 0.039 0.029 P =L SR E(m) 0.102 0.306 0.510 0.306 0.102 KiEm) h 8.002 8.206 8.410 8.206 8.002|—IKiFE =5 # B
FBx3 7K (h/Ho') 3.918 3.013 2.470 3.013 3.918 O D.L(m) [X3C# HW.LMD.L. :m) 1.900 1.900 1.900 1.900 1.900 HXIKE h/HO @ 3.918 3.013 2.470 3.013 3.918 — IZRNKR
#E % K= (he/Ho') 1.272 0.879 0.643 0.879 1.272 /N FF (m) 2.002 2.206 2.410 2.206 2.002 K (m) he 2.598 2.394 2.190 2.394 2.598
SHEOE K nEG:A 0.00009] 0.00048 0.00090] 0.00048] 0.00009 VBl O 5 (AR R o i Z A A D) he/HO @ 1272|  0879] 0643] 0879] 1.272
MRS 1,992] 16504 43.294] 16,504] 1992 oy [BBUKEL —RImE S H1 —2.598] -2.394] -2.190| -2.394] -2.598 _ D~FLE AR EENTRAED_E _
_ it [H<ODEDFDZEL 0.000 0.000 0.000 0.000 0.000){at R = 45H a/+ (2g(H0)3) | 0.00009] 0.00048| 0.00090| 0.00048| 0.00009|#a% i %S
10 DB R e + iane 80,285 (m3) s:"'“ SEE#FRRE(mM3/m/sec) 0.000 0.000 0.000 0.000 0.000j(m3) | #ER [q(m3./m/sec) | 0.001153|0.009551] 0.025054] 0.009551] 0.001153]Q10 (m3) |
2TRXROBEER= +HHRBRE 652,423](m3) = [BREm3) 0 0 0 0 0 0] |KYETE |qg (m3) 1,992 16,504] 43,294 16,504 1,992 80,285
IX4 - 10
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MR T —2DIERL GRIRDIER DT —FZEECA)

I X TRI—1
i %
BEEE HEER
E R (m) 350.0
BrmEEE T ) -40|—HEEmKY, FHE
K (m) 46| MIEMNTIZHNIL,
Al B &) 1/10] YA FADIEZTZADZE
BB EREK) ] 0.92
. - fewrefE At (BFRE) 2400 2400] 2400] 2.400] 2.400[:%) HEREERE ] At (FFFE]) 2.400] 2400/ 2400/ 2.400]  2.400
TRX5 S50FEERNNDIZTHHEEREITE ;* BE  [Eem) 2.700]  3600] 4500] 3600 2700 = [RRRE (m) LO 70.051]  70.051] 70.051] 70.051| 70.051
BERX[ERER ALEAER 1/10 s (4iR)  |RHA(sec) 6.700 6.700 6.700 6.700 6.700| AL 15 HAE i (m) HO (=KrxHO|  2.484 3.312 4.140 3.312 2.484
= S R (h) 2.40 4.80 7.20 9.60]  12.00 g | KA B HWLLKAEE HO/Lo @ 0035 0047 0059 0.047] 0.035
JE R B BE(Ho'/Lo) 0.035 0.047 0.059 0.047 0.035 P =L S R E(m) 0.120 0.360 0.600 0.360 0.120]+ Ei#RZE |KFEm) h 6.020 6.260 6.500 6.260 6.020|—IKiFE == ##A L
%t KZE (h/Ho') 2.424 1.890 1.570 1.890 2.424 o | D-L(m) |R3C# HWLDL. : m) 1.900 1.900 1.900 1.900 1.900|[TP.(BIR. ;AI|#EXI/KZE h/HO 2.424 1.890 1.570 1.890 2.424 — IR MK R
>3 Rifii = (he/Ho') 1.039] 0707 0507] 0707  1.039 N5t (m) 2.020| 2.260[ 2.500| 2.260| 2.020|C.D.L.UKEE. #Ximm (m) he 2580 2340 2.100] 2.340| 2.580
SHEDOM ER=GoE 0.00045] 0.00105/ 0.00108] 0.00105] 0.00045 = O E = 24 ) RinmrBADZGS) RN, ] hc/HO' @ 1.039|  0.707|  0.507 0.707 1.039
HER=E  (m3) 23,324 84,729 121,796| 84,729 23,324 ﬂ f’éﬁum&—fiﬁﬁé "H1 -2580| -2.340] -2.100] -2.340] -2.580 D~ tE AR REEHE A DL
GEIAKinm A DIGa IR AMBAA) it [H<ODEDFDZL 0.000 0.000 0.000 0.000 0.000[{a = 4H a/+ (2g(H0)3) | 0.00045| 0.00105| 0.00108| 0.00105| 0.00045|kasiE e
BOERERAN T DA R = T B = 337,903 |(m3) L I REEREm3/m/sec) 0000]  0.000] 0000] 0000]  0.000|(m3) | #EE |q(m3./m/sec) | 0.007713] 0.028019] 0.040277] 0.028019| 0.007713|Q50 (m3) |
2TROBBERE HHRBRE 1,086,718 |(m3) iR =(m3) 0 0 0 0 0 0] |KYETE lqg (m3) 23,324] 84,729 121,796] 84,729 23,324 337,903
- R At(FE) 2.400 2.400 2.400 2.400 2.400 R At () 2.400 2.400 2.400 2.400 2.400
TRX5 A40FWHEERNDITHTHHBRRESTE ;* BE  Eam) 2646  3528| 4410] 3528]  2.646 PRRE (M) L0 70.051]  70.051] 70.051] 70.051| 70.051
BeRABRER BERED 1/10 s (4iR)  |FHA(sec) 6.700 6.700 6.700 6.700 6.700 HRE g (m) HO' (=Kr X HQ 2.434 3.246 4057 3.246 2.434
= S i a8 B (h) 2.40 4.80 7.20 9.60]  12.00 & 1 KT EMAE HO/LO @ 0035/ 0046 0058 0.046] 0.035
SRR B EE(Ho'/Lo) 0.035 0.046 0.058 0.046 0.035 P =L S R E(m) 0.118 0.353 0.588 0.353 0.118 KiZEm) h 6.018 6.253 6.488 6.253 6.018|—KiFE =8B
FBxF 7K (h/Ho') 2.472 1.926 1.599 1.926 2.472 O D.L.(m) [X3C# HW.LMD.L. :m) 1.900 1.900 1.900 1.900 1.900 X KZE h/HO @ 2.472 1.926 1.599 1.926 2.472 — I RKR
HxtXifm (hc/Ho") 1.061 0.723 0.521 0.723 1.061 /N FF (m) 2.018 2.253 2.488 2.253 2.018 Kifirm (m) he 2.582 2.347 2.112 2.347 2.582
SHR DMK e G 0.00041] 0.00102] 0.00111] 0.00102] 0.00041 | Bl E O & (A K LA Ko & A 2 B ) he/HO 3 1061| 0723|0521 0723  1.061
MR E 20,848] 79.852] 121.443[ 79.852] 20,848 a5 BAVKA —Rinms H1 -2.582| -2.347] -2.112] -2.347] -2.582 _ D~QFLECAHNEENERHEDL _

i [H<ODEDEDZFL 0.000 0.000 0.000 0.000 0.000]#a#5 i = AH a/+ (2g(H0)3) | 0.00041] 0.00102| 0.00111[ 0.00102] 0.00041|tsik7E
A0FEMERI DA K = + teiln e 322,842[(m3) B e [REHERE(m3/m/sec) 0.000 0.000 0.000 0.000 0.000 (m3>l #ER |q(m3./m/sec) | 0.006894| 0.026406] 0.04016] 0.026406| 0.006894]Q40 (m3) |
2TROBBERE HHRBRE 1,029,558 (m3) = [FREMI) 0 0 0 0 0 0] |KYETE lg (m3) 20,848] 79,852| 121,443] 79,852 20,848 322,842

- BERE At(FE) 2.400 2.400 2.400 2.400 2.400 B At () 2.400 2.400 2.400 2.400 2.400
TX5 30Eﬁﬁ$5’1‘jﬂ 'LTT%)L&UH.EE'I'%: 6773* KR EEm) 2.565 3.420 4275 3.420 2.565 HEEEmM) Lo 70.051| 70.051| 70.051| 70.051[ 70.051
BeRABRER AERED 1/10 s GHiK) B Hi(sec) 6.700 6.700 6.700 6.700 6.700 HRE i (m) HO'(=Kr X HO 2.360 3.146 3.933 3.146 2.360
= AR AR 268 s ] (h) 2.40 4.80 7.20 9.60]  12.00 % | K [F ERQE HO/L0 @ 0034 0045 0056 0045 0.034
SRR B ER(Ho'/Lo) 0.034 0.045 0.056 0.045 0.034 P =L S R E(m) 0.114 0.342 0.570 0.342 0.114 KiEm) h 6.014 6.242 6.470 6.242 6.014|—KiFE =8B
FBx3 7K (h/Ho') 2.549 1.984 1.645 1.984 2.549 D D.L.(m) [X3C# HW.L(D.L. :m) 1.900 1.900 1.900 1.900 1.900 HXIKIE h/HO @ 2.549 1.984 1.645 1.984 2.549 — I RNKR
B % K= (he/Ho') 1.096 0.749 0.542 0.749 1.096 /N & (m) 2.014 2.242 2.470 2.242 2.014 Xz (m) he 2.586 2.358 2.130 2.358 2.586
SHEROB EnEGRE 000036 000097 000115 0.00097 0.00036 VB DA 5 (B AKX I Z A DB ) he/HO @ 1.096]  0.749] 0542 0749  1.096
MR E 17,374] 72,104 120,086] 72,104] 17,374 a5 BAKA —Rifms H1 -2.586] -2.358] -2.130] -2.358] -2.586 _ D~QFLECAHNEENERHEDL _
e [H<ODEDEDZFL 0.000 0.000 0.000 0.000 0.000[#a#5E = AH a/+ (2g(H0)3) | 0.00036] 0.00097| 0.00115[ 0.00097| 0.00036] %% 7E
3 SRR o T+ 1A 299,042 [(m3) H e [REHERE(m3/m/sec) 0.000 0.000 0.000 0.000 0.000 (ms)l #ER |q(m3./m/sec) | 0.005745| 0.023844] 0.039711] 0.023844| 0.005745|Q30 (m3) |
éIIZOD AR e HiSERE 941,419](m3) = [REm3) 0 0 0 0 0 0] |[KYETE [q (m3) 17,374]  72,104] 120,086] 72,104 17,374 299,042
- GRS At(BRRE) 2.400 2.400 2.400 2.400 2.400 GRS At(BRR) 2.400 2.400 2.400 2.400 2.400
TX5 ZOEEE$5’1~73H 'LTT%)L&UH.EE'I'%- l’;\; KR EEm) 2.457 3.276 4.095 3.276 2.457 HEEEmM) Lo 70.051| 70.051| 70.051| 70.051| 70.051
BeRABERER BERED 1/10 e GHiK) B Hi(sec) 6.700 6.700 6.700 6.700 6.700 HRE g (m) HO' (=Kr X HQ 2.260 3.014 3.767 3.014 2.260
15 5 MR A a8 B e () 2.40 4.80 7.20 9.60]  12.00 % | H ) RMAE HO/LO @ 0032| 0043] 0054 0043 0.032
SRR B EE(Ho'/Lo) 0.032 0.043 0.054 0.043 0.032 P =L S R E(m) 0.109 0.328 0.546 0.328 0.109 KiZEm) h 6.009 6.228 6.446 6.228 6.009|—IKiFE == # B
B3 7K % (h/Ho') 2.658 2.066 1.711 2.066 2.658 O D.L.(m) [X3C# HW.L(D.L. :m) 1.900 1.900 1.900 1.900 1.900 HXIKIE h/HO @ 2.658 2.066 1.711 2.066 2.658 — IR RNKR
#E % K= (he/Ho') 1.146 0.787 0.572 0.787 1.146 /N FF (m) 2.009 2.228 2.446 2.228 2.009 XKiiirm (m) he 2.591 2.372 2.154 2.372 2.591
SHE OB Em e (58 000029 0.00090] 0.00119] 0.00090] 0.00029 TBREDH N (mA KA R m e A D e ) he/HO _ ® 1.146] 0.787| 0572] 0.787| 1.146
R & 13286 62975 116,498 62,975 13,286 g5, (B BUOKA — Kim=ms HT -2.591]  -2.372] -2.154] -2.372] -2.591 _ D~QFLECAHNEENEmAHED L _

Hix [H<ODEDFEDZFL 0.000 0.000 0.000 0.000 0.000]#a 45 = 45H a/+ (2g(H0)3) | 0.00029] 0.00090| 0.00119| 0.00090] 0.00029|s %% 7
soﬁﬁiﬂﬂiw.ﬁﬁ,ﬁ;ﬁi+’fvbﬁ_5;.% 269,019[(m3) B e [REERE(m3/m/sec) 0.000 0.000 0.000 0.000 0.000|(m3) | #ER [q(m3./m/sec) | 0.004393| 0.020825] 0.038525| 0.020825] 0.004393]Q20 (m3) |
2TRXROBREER=E +HHRBRE 826,733[(m3) = [REm3) 0 0 0 0 0 0] |[LYETE [q (m3) 13,286] 62,975] 116,498] 62,975] 13,286 269,019

. ot BfrErE At(FR) 2400]  2.400] 2.400]  2.400]  2.400 BfErE At (R 2.400]  2.400]  2.400]  2.400] _ 2.400
TX5 10&5&&5’17](:?#76@}&'5{5#%: I’;\; KR KEEm) 2.295 3.060 3.825 3.060 2.295 HEEEmM) LO 70.051] 70.051| 70.051| 70.051| 70.051
BERR[ERER AERED 1/10 e (#iR)  |RHA(sec) 6.700 6.700 6.700 6.700 6.700 HRE i (m) HO' (=Kr X HO 2111 2.815 3.519 2.815 2.111
= AR A AR 8 B R (h) 2.40 4.80 7.20 9.60 12.00 % | SRR ER.AE HO/LO D 0.030 0.040 0.050 0.040 0.030
JE 2 BEc(Ho'/Lo) 0.030 0.040 0.050 0.040 0.030 P =L SR E(m) 0.102 0.306 0.510 0.306 0.102 KiEm) h 6.002 6.206 6.410 6.206 6.002|—7KiFE =5 #Ei L
FBx3 7K (h/Ho') 2.843 2.204 1.822 2.204 2.843 O D.L(m) [X3C# HW.LMD.L. :m) 1.900 1.900 1.900 1.900 1.900 HXIKE h/HO @ 2.843 2.204 1.822 2.204 2.843 — IZRNKR
#E % K= (he/Ho') 1.230 0.850 0.622 0.850 1.230 /N FF (m) 2.002 2.206 2.410 2.206 2.002 XKiiirm (m) he 2.598 2.394 2.190 2.394 2.598
SHEOE KB @8 0.00020] 0.00078] 0.00119| 0.00078_0.00020 VBl O 5 (AR R o i Z A A D) he/HO @ 1.230] _ 0.850]  0.622] 0.850]  1.230
MRS 8297 49.262| 105169] 49262 8297 oy [BBUKEL —RImE S H1 —2.598] -2.394] -2.190| -2.394] -2.598 _ D~FLE AR EENTRAED_E _

Hix [H<ODEDEDZFL 0.000 0.000 0.000 0.000 0.000]#a#5E = AH a/+ (2g(H0)3) | 0.00020] 0.00078| 0.00119| 0.00078] 0.00020] %% 7 &

10 DB R e + iane 220,286 [(m3) ﬁ"'” SEE#FRRE(mM3/m/sec) 0.000 0.000 0.000 0.000 0.000|(m3) | #ER |q(m3./m/sec) | 0.002744| 0.01629] 0.034778| 0.01629] 0.002744]Q10 (m3) |
2TRXROBEER= +HHRBRE 652,423](m3) = [BREm3) 0 0 0 0 0 0] |[LYEFE [a (m3) 8,297| 49,262] 105,169] 49,262 8,297 220,286
IX5 - 11
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MR T —2DIERL GRIRDIER DT —FZEECA)

I X

TIRXRM—2
e 5%
BEEE HEER
E R (m) 200.0
BrmEEE T ) -15|—HEMm&KY, FHE
K (m) 46| MIEMNTIZHNIL,
Al B &) 1/100] YA FADIEZTZADE
BB EREK) ] 0.95
MGTRER At(FER) 2.400 2.400 2.400 2.400 2.400[:F) MEGTRER At(FERE) 2.400 2.400 2.400 2.400 2.400
b 7va — N - = = —
TX6 S50FEHERNNDIZTHAHEEREETE ;* BE  [Eem) 2.700]  3600] 4500] 3600 2700 = [RRRE (m) LO 70.051]  70.051] 70.051] 70.051| 70.051
BERX[ERER B ESE]  1/100 e (4iR)  |RHA(sec) 6.700 6.700 6.700 6.700 6.700| AL 15 HAE g (m) HO' (=KrxHO|  2.565 3.420 4.275 3.420 2.565
= S R (h) 2.40 4.80 7.20 9.60]  12.00 g | KA B HWLLKAEE HO/Lo @ 0037| 0.049] 0061| 0049 0.037
JE R B BE(Ho'/Lo) 0.037 0.049 0.061 0.049 0.037 P =L S R E(m) 0.120 0.360 0.600 0.360 0.120]+ Ei#RZE |KFEm) h 3.520 3.760 4.000 3.760 3.520|—KiE =8B
%t KZE (h/Ho') 1.372 1.099 0.936 1.099 1.372 o | D-L(m) |R3C# HWLDL. : m) 1.900 1.900 1.900 1.900 1.900|[TP.(BIR. ;AI|#EXI/KZE h/HO 1.372 1.099 0.936 1.099 1.372 — IR MK R
%t K= (he/Ho') 1.006 0.684 0.491 0.684 1.006 N Et (m) 2.020 2.260 2.500 2.260 2.020|C.D.L.OKE. #Ximm (m) he 2.580 2.340 2.100 2.340 2.580
SHEDOM ER=GoE 0.00020] 0.00039] 0.00063] 0.00039] 0.00020 = O E = 24 ) RinmrBADZGS) FHERDIE, ] hc/HO' @ 1.006 0.684 0.491 0.684 1.006
HER=E  (m3) 6,223| 18,822 42,398 18,822 6,223 ﬂ f’éﬁum&—fiﬁﬁé "H1 -2580| -2.340] -2.100] -2.340] -2.580 D~ tE AR REEHE A DL
GRIAXRInEZBZ5EaIIREAIEAAN) i [H<ODEDEDZFL 0.000 0.000 0.000 0.000 0.000{at iR = 4H a/+ (2g(H0’)3) | 0.00020| 0.00039| 0.00063| 0.00039| 0.00020)fa#k K xS
S5O e 51 1) D FAB R e T ioron = 92,486 |(m3) L I REEREm3/m/sec) 0.000 0.000 0.000 0.000 0.000|(m3) | #ER |[q(m3./m/sec) | 0.003601| 0.010892] 0.024536] 0.010892| 0.003601]Q50 (m3) |
2TROBBERE HHRBRE 1,086,718 |(m3) iR =(m3) 0 0 0 0 0 0] |KYETE lqg (m3) 6,223] 18,822] 42,398 18,822 6,223 92,486
BerEm At(FE) 2.400 2.400 2.400 2.400 2.400 Bk At (R 2.400 2.400 2.400 2.400 2.400
= = —
TX6 A0FHEERNADITHTHHBRRESTE ;* BE  Eam) 2646  3528| 4410] 3528]  2.646 PRRE (M) L0 70.051]  70.051] 70.051] 70.051| 70.051
__ BER R | HRER BEAEC]  1/100 e 5| GRiBD |EHA(sec) 6.700| 6.700|  6.700|  6.700[  6.700 MASTiHi® (m) HO'(=KrxHQ  2514] 3.352| 4.190| 3352| 2514
(= i A AP 8 B ] () 2.40 4.80 7.20 9.60]  12.00 & 1 KT EMAE HO/LO @ 0036| 0048] 0060| 0048/  0.036
SRR B EE(Ho'/Lo) 0.036 0.048 0.060 0.048 0.036 P =L S R E(m) 0.118 0.353 0.588 0.353 0.118 KiZEm) h 3.518 3.753 3.988 3.753 3.518|—KE=5 8B
FBxF 7K (h/Ho') 1.399 1.120 0.952 1.120 1.399 O D.L.(m) [X3C# HW.LMD.L. :m) 1.900 1.900 1.900 1.900 1.900 X KZE h/HO @ 1.399 1.120 0.952 1.120 1.399 — I RKR
HxtXifm (hc/Ho") 1.027 0.700 0.504 0.700 1.027 /N FF (m) 2.018 2.253 2.488 2.253 2.018 K (m) he 2.582 2.347 2.112 2.347 2.582
SHEOB K& 000020 0.00038] 0.00062] 0.00038] 0.00020 | By DE 5 (B K AL A K S 2 R A D B ) he/HO @ 1.027| _ 0.700] __0.504]  0.700| _ 1.027
R E 5976 18,025 40,607 18025 5976 oy PBBUKEL —RIm s HI —2.582| -2347| -2.112| -2.347| -2582 _ O~FLE AR EENZRAED_E _
e [H<onEDEDZEL 0.000 0.000 0.000 0.000 0.000{at iR = 4H a/+ (2g(H0)3) | 0.00020| 0.00038| 0.00062| 0.00038| 0.00020)#a#%iK %=
A0FEMERI DA K = + teiln e 88,610[(m3) B e [REHERE(m3/m/sec) 0.000 0.000 0.000 0.000 0.000 (m3)l #ER [q(m3./m/sec) | 0.003458|0.010431] 0.0235| 0.010431] 0.003458|Q40 (m3) |
2T XNERHERRE HERE 1,029,558 (m3) = [FREMI) 0 0 0 0 0 0] |KYETE lg (m3) 5976] 18,025 40,607| 18,025 5,976 88,610
BerEm At(FE) 2.400 2.400 2.400 2.400 2.400 B At(Fm) 2.400 2.400 2.400 2.400 2.400
B=E =
TX6 30Eﬁﬁ$5’1‘jﬂ 'LTT%)L&UH.EE'I'%: 6773* KR EEm) 2.565 3.420 4275 3.420 2.565 HEEEmM) Lo 70.051| 70.051| 70.051| 70.051[ 70.051
BERXEEER AERED 1/100 s GPR)  |[E#i(sec) 6.700 6.700 6.700 6.700 6.700 L& HKE (m) HO' (=Kr X HO 2.437 3.249 4.061 3.249 2.437
= AR R AR 8 B R (h) 2.40 4.80 7.20 9.60 12.00 % | SR IA ERAE HO/LO D 0.035 0.046 0.058 0.046 0.035
SRR B ER(Ho'/Lo) 0.035 0.046 0.058 0.046 0.035 P =L S R E(m) 0.114 0.342 0.570 0.342 0.114 KiEm) h 3514 3.742 3.970 3.742 3.514|—KFE=5 8L
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15 5 MR A a8 B e () 2.40 4.80 7.20 9.60]  12.00 % | H ) RMAE HO/LO @ 0033| 0.044] 0056 0.044] 0.033
SRR B EE(Ho'/Lo) 0.033 0.044 0.056 0.044 0.033 P =L S R E(m) 0.109 0.328 0.546 0.328 0.109 KiZEm) h 3.509 3.728 3.946 3.728 3.509|—IKiFE == # B
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R & 4211] 13082] 29569 13082 4211 4y (B UK A — Kim=ms HT -2.598]  -2.394] -2.190] -2.394] -2.598 _ D~QFLEAHNEENERAHED L _
_ Hix [H<ODEDEDZFL 0.000 0.000 0.000 0.000 0.000){at R = 45H a/+ (2g(H0)3) | 0.00017| 0.00035| 0.00056| 0.00035| 0.00017|##kE RS
10 DB R e + iane 64,155(m3) s:"'“ SEE#FRRE(mM3/m/sec) 0.000 0.000 0.000 0.000 0.000j(m3) | #ER [q(m3./m/sec) | 0.002437| 0.00757] 0.017112] 0.00757] 0.002437]Q10 (m3) |
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